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Intro

Today we will 73 learn 77 of i3 oo The description of..
Some of the topics we will learn about include. b x J

The description of 533

The case in which 531 is only v through mnam wap;
The case in which 531 is Rpon even without nIm wIp;
The case in which 5311s NOT xpon even with mnam wip.

WhichYx1 is ONLY xnun

through P NN VIR

Which x1 is Xxy3un even

WITHOUT PRI WP

Yx1

N NIM WIP

The question of nab Hx1w

The Halachah of ;373;

If a person pours v OpwH from one >3, one utensil,
into PRV PRWH that is in another *53;

For most opw, the o mnv o'pwn in the first °50 remain
v, because

NIMIPR PIR)

The flow that goes from one *3 to the other does NOT
connect the two bodies of liquid as one. However, for
certain ’pwn, the 0170V O’PWH become RV, because we
do say m12°n ;%03 for these opwn.

The question of..
2nnN2Y D1 W

The Machlokes o»om Rnw ma regarding 1% for 1opn P’X’ J
o bw;

Machlokes regarding pix1
for1?©793 YW NOPN

P
i
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The question of PY2IR P W

The Machlokes i1 and j30v °27 regarding the 277 w

Some of the terms and concepts we will learn about
include

A Rpv food loses its Rm when it is 79OR» Y003, becomes
inedible.

There is a Machlokes as to when is a food considered
inedible. Some say

O TV IO ARV

A stringent IRm such as 7523 7w1 loses its IRMIL even
from when it is merely

DR N2281 Y003, inedible to a person.

2535 7Y "Hp ARPIVY

A lenient nRm1v, such as PH2IR NRW; a food that became
X1V, only loses its AR from when it is 253 N1 Yoo,
inedible to a dog;

Others say

2595 7Y 7PN RO

Both, a stringent nXm»w and a lenient IR, lose their
nRmv only from when they are 255 n%arm Yoo,

Dedicated By:
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The question of..
219015 pivn W

Machlokes regarding
227 MY

Food loses its axnig
when it is aY3Ixn Yu91

Some say

NNON DRIV
929 TV
p?/-’/)ét/\/ ég
NP NRMIV)

2959 TY
,a,gﬁél’// ég

Others say

NNPN ARNIO

2905 TY
DA/’A[/‘/ ég
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So let's review ...

The previous Mishnah mentioned

123 P MR DR HY

These are the forms of n» nxmv through which a Nazir is
obligated in nn%n, he must shave-off his hair and bring
PRI M2

npabY

R 5,

531 M

If he becomes Rpv from a N1 that was whole, or even from
a1 of flesh, or even a 1) of 33;

The Gemara explains

53170

What is 5337

WIPW NN w1

If the N w1 softened until it became 5, a liquid, and
then hardened. OR,

W Smm

Liquid secreted from the n», which when heated on the
fire bubbles.

These are bx1 from which a Nazir becomes xnv ifit's a
19, because there is a *»on wnb 7257 that Y31 is
considered 7wa.

Dedicated By:

DafHachaim.org

The previous Mishnah...

PINDY N Sy
931 M

nnn oY
Prome apy that was whole

T i A O

[um/mmw 5o U%W
bea A 5

2981 1NN

5
NNINY

Liquid secreted from a nn,
which when heated on fire
bubbles

nnn w2
WIPW
If i 1w1 softened
until it became 30,
then hardened

A Wag(/f becomes bl % &y w o,
there iy w / Jron D&/ﬂ‘bé
that @ & considered 20
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As np7 " explains, the Mishnah is a case of bno3; the Hx3
was found near the n», so that we know with certainty that
it's from a . However, we do NOT know if the 533
originates from n»n 9w which is X»o or from 1117,
mucus, which is Wv. Therefore, we test it by boiling it.
WP N

hblile!

The Nazir is 1% only if the 5 hardens or bubbles,
because then the 5m is certainly from i wa. However
wIp N>

RT3 RDST

The Nazir CANNOT be nn if the 5mn did NOT harden
or bubble, because then the 5mn is possibly merely mucus,
and a Nazir cannot be n5» and bring Korbanos for a poo
RMIV.

DafHachaim.org

AV ~R M
the Mishnah is a case of..
0ONo2
The &5 wwy/am/ near the, sy,
we KNOW that i’y ﬂom/ @y

We do NOT know if the 7x1
originates from...

V2 1N NN w2

28 Wefw&, we TEST it t/‘/[

wIP RY
1221 1N RNHT
NN
A Wagér cannat be /)@/ and én‘n;/ P
/or w at,«//[/)aa

WP R
NN HYNm
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. The Gemara continues:
71390 AR YD RYA 2

Dedicated By:

nmab HsIw

0725 933 PRIR

Is b33 0f a carcass of an animal considered 7wa regarding

1521 NRPIY, or is it Mv?

The Gemara elaborates:

There is NO question according to the opinion that holds
O TV MR ARPIV

A stringent IR such as 7521 7w1 loses its IRMIL even

from when it is DR N>ox1 5093, inedible to a person,

because even if mona Y31 is considered w3, it would NOT

be Riv anyway, because 531 is DTR n2R) Yoo,

The question is only according to the opinion that

1535 7Y 77N ARV

A stringent IR0 loses its IR only from when it is 5003
155 norp, inedible to a dog, and 5x1is NOT n»onn boo)
152. Therefore, the Shailah is as follows:

Do we say?

omd H8I PR

5%11s NOT considered mna w3, because

DTRY TIRT Y3173

RS nIan NRT YIR

The *yon mwnb nobn of H31 was only taught regarding Ywa
078, but NOT for 2 ywa.

OR,

b b w

533 IS considered mi»na w3, because

NIV KD

The Halachah of 531 was taught regarding all sorts of 7wa,

Pe?ar/mg/

QW 7k DY YA

Sy apnab Hxa w
20PN2Y YN PR IR

NN DRNMIV
125 TY
A stringent sud
loses ity Sl when iy
3t o Jod)

Even ifmana yxa
IS considered 1w3,
it would NOT be xnag
Pt AoAN Jod)

Do we say..
NN2Y S PR

P 2 1) ropie
 Yop otz I

oy M,«/ﬂbﬁ
oﬂé @/ way WI/[?/ taught
FW/WL?/ Pt 2>

DafHachaim.org

The o OMfy
er;;j‘: the gpinion. ..
NNNN ARNIV
2909 TV
A sitri. 3),&71///
lse ity at% when it'y
pgﬁél’// ég

The 2/t
Wab /Z%WA/:

NNN2Y H¥ v

Gl
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The Gemara wants to resolve the question from a Braisa
that states

MR

RPO

If the pow, fats, of a M0 v n523 was liquefied on a fire,
the ™ is still RV, because 253 NH R Hoo1 RS, However,
3

NIw

If the y»w was liquefied in the sun, the j»w becomes V.
The Gemara assumes that 7nna is NOT 253 n%axm 509,
and even so the 1w becomes 11v; apparently, because PR
mmnad Y3y, and the 5311s NOT considered g1 qwa.
However, X»v 7182, because, as Tosfos explains,

DRI PIY DT INNOA

To liquefy by hand is superior to 5% which only becomes
aliquid on its own. Therefore, it is still considered 9 Jwa.

The Gemara answers that this is NOT a proof, because
even if we do say mnmab bxi v

MO PN

Because

N2 MMORT AN 75 R TR

90V 75 M AIORT 11D

The p>w spoils in the sun before it becomes a liquid, and
spoiled o is 253 noRm Ho9), therefore it is Mo,

Ww@ i NOT considered

DafHachaim.org

The Gemara wanty to resolue the question

/mm/ @ Braisas

atalg! TN 1.'!12?:?
ol @yl WY i
%mw ?ZQf

s
p,g/)@// 69 ;é’/

55 Y70 ©Y7°3 WOND
4/}/ A Zf’yiﬁ%wMeﬂ/ 4/}/ 20>

/f/bparwﬂ?/,
3)/1/5),3/ @ /')é’

This is NOT a proof
EI/M%W&DO say
3)/1/:)9/@ g
NAL AN

WIS PIIOLT > D’ﬁ/’/‘//‘/ﬂ/‘/’t
20) D'AJ/D MIoE? Y

And spoiled y1e i o5 plotr 1o,
z%eref%m & il
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The Gemara cites a Mishnah

N0 PRI
If a person pours D70 D'pwH from one "5, from one
utensil, into PR»Y Ppwn which is in another 5;
For most opwn, the o mnv o'pwn in the first °50 remain
MY, because
NIMIPR PIX)
The flow that goes from one *3 to the other does NOT
connect the two bodies of liquid as one. However,
TPORM DO WATH I
For thick honey, and honeycombs, the v opwn
become xnv, because for them
NN PN
The »%11s considered a 112°m, because they are extremely
thick.
The Rnw 2 say

519 501 PO Sw nopmni R
Even for a thick cereal made from grits or beans, the
D00 DpWn become RV, because

INRY NTNO R 2390
The %1 flows backward when the pouring stops, and
therefore it is considered a m2'm.

RN 72°m7 asks according to the Chachamim;

YIRS PRI W
Do we say 121 %01 for thick foods, or

PHIIND PIRI PR

We do NOT say m12'n p1»1 for thick foods.

Do we say?

POIRS Pz W

Because the reason we say 21 pix°) for 0017 waT is
R)77 PHOTDIWN

Because of its thickness

PO R RO

And these foods are also thick

OR

YIRS PRI PR

Because the reason we say 7112°m pix’1 for 0917 w27 is
PN IVRT OION

Because the p1x1 flows backward - However,
lalnnbatoRin

The »x1 of thick foods does NOT flow backwards.

Dedicated By:
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2
a5
QYO 2T YIN
DAY

20 PRI 93
Powring pryad) PPN
inty /ft,//;?;// in Wﬁw by

Honey, and honeycombs,
themunv o'pwn
become Xng

2P /’)/oj
7@ are @a‘mme/?/ thick
WY N2

910 Sun o3 W NP AN

Thick cereal made from grits or beans,
the o™i opwn become XnyY

"D /O/aj

>t/ 3l £ yop

2

AMD 95 Mo
/focor/m?/ ty the Chachamim;

Db PR (2) 1hawb i e
| |
for thick foods for thick foods

The reason we saty o pr3)
%W PO b3 ...
97 DD S I
The P13 ﬂawy backward

1777302 1YY M

The reason we Sasy 3 Lz

%W POND bz ...
413 fopoz pIoy

11°5"D0 RN ROM
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The Gemara tries to resolve the question from the Xo°o:
The 8w 2 say

919 501 o S nopni R

TNARS NTN0 RV 2190

The Gemara assumes that the Machlokes is follows:

The Chachamim hold

For o171 w27 we say 120 3’3, because, as Tosfos
explains

RV P R

The pix1is very strong

However, for o3 Sw nopn we say 1121 10K 71373, because
the px°1is NOT that strong.

While the *xiw 12 hold that even for PO Sw nopn we
say 7121 1371 because

M5 TR

The p1%°3 is somewhat strong.

However for other foods which have NO »79, everybody
agrees that 12’0 17X 131 even though they are p3°1»o,
thick.

So we can prove from here that

PHIIND PIRI PR

DafHachaim.org

The Gemara tries to resolve the question
%mm/ the tovo:

W n'a

90 Sun o S mopn AN

2wk 3o £ yop

The Gemara assumes:

W n'2 Q'a2n

1POY SR mEpn

Q'a%n ¥as

2N /’)/o7j 2P /O/oj

999 05 PO H3MW 99 105 H
/')/oj & somewhatt men?/ The U3y very u‘rm?/
1MOYI3 W mEpn
>N ) /v/oj
P2y Nnor- very strong
Other %40/5, which hawe MO 7,
w”%o/ a?rm W ) /’)/3j

cven though they are f2po
Pl
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The Gemara says that this is NOT a proof because they all
agree that p5oR> pix v
And the Machlokes is as follows:
The Chachamim hold
Forootnwatwe say MM 7Ry, because
PYPOTOIWN
However, for poa Sw niopn we say 12m R 71373, because
they are NOT p>no.

Therefore, for other foods we do say 7121 p1x°3, because
they are p>n»o.

While the *xnw 2 hold that even for PO Sw nopn we
say 1121 137, because although they are NOT y> 1o,
however

P70 IR,

The previous Mishnah continues with

27 TN RO 5!

A Nazir must be 15 if he became xnv from a ladle’s
worth of 39, decay of the n». The Gemara now discusses
the Mmyw of 2pn.

PPN says

TR DD RO

The amount that fills the palm of the hand;
13037 says

PIOM RO

The amount that fills the hand and the fingers

DafHachaim.org

This is NOT a proof

rhilpidy b

W n'2 Q'aon

MoYI3 S M
WD /)/o’j

2N 2o
2N /O/oj
1P"MOT VN
DY) OY PN
"N ) /%j
Are NOT 1’200

Although they
are NOT pamvu

9999 105 PO

For other foods we
DO say man pix,
they ARE pamvu

Previous Mishnah continues..

397 N 89 o

A Mag/r Wé&o@/%ﬁ@émm&t,«/f
/rom/ w ladle’s worth of 7, /m%/ 0”5 the oy

e

The myw of 3p1

1Mo apm

PI5M ROH = MDD ROY

Fills the HAND Fills the PALM
and the FINGERS of the hand
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The Gemara cites a Machlokes in a Braisa;

1INRY 2P TNIN N5

1515 MYIAZR PN Y

PR 17727

PR1 17 says that the 1w is the amount that is from
beginning of the fingers upward until the fingertips.
RO

PI9M ROD

The Gemara explains that 1311 *17 certainly concurs with
the Chachamim.

Ve certai concury

DafHachaim.org

_-,8/) 7727

1ARY 2P7 NN N1

QAo NN 29
PPIYN PP e
mopn5

From beginning
of the fingers
until the fingertips

»iom 8bH

with the Chachamim
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However

IR PPN

12D RN D"IRS
i does NOT concur with R °27 nor with the 132772
Because 7pin holds 71 noo 85, while 7R» 227 holds
MYIaxR °w», and the 1327 hold rion kO

The Gemara offers two explanations in which 711 does
concur with X1 29, either because

TR 0D RN

15015 PMYARR WP RO

RITRMW TN

Both measurements are of equivalent amounts.

OR because 715vn9 myaz v does NOT mean mHnb,
upward toward the fingertips, but rather

niatatohlcisy

It means from the beginning of the fingers downward
until the beginning of the hand, which is precisely the
measurement of 717 o0 R, the palm;

DafHachaim.org

2

2IR1NDD NPTN

DN’ LN
12290 R9 N”IO XY
1J0n A YA P

2 w/@mﬁ(m/ in whichs 27
DOES concar with AN 1)

Either..

Nyl
PRPIRN WD
avIiAp)
x5
1 NoD

NI NP2 7

PIPIEN PP
Mo

)
A b

From the é‘ gy of) the fingers
wnitil the ée?mmn?/f/ fh@%

Prwz@%y the measurement
0% D_no’d ,&’ﬁ
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